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=50 =40 =33 -2n =10 o 10 20 30 40 50
1 H 1 ! 1 1 1 1 1 1 1
x E
0450000 =04323£-03 | 1 !
0450500 ~0:243€~03 I - 1 1
©451000 ~0+170€~03 1 * 1 [
0.51500 =0+103E~03 | » 1 1
0452000 ~0+427E=04 | * 1 1
0452500 0+120E-04 | 1 » 1
0453000 0+613E~04 | I * 1
0453300 0+10%E~03 | 1 » 1
0154000 0+104E=03 1 - 1
034500 041179£=03 | 1 * 1
0455000 0+209E=03 | 1 - 1
0+55500 0+235€-03 ! 1 - 1
0436000 0.257€-03 | 1 - I
0456500 0+276E-03 | 1 - 1
0+57000 0¢291E=03 | 1 - 1
0457500 04303E-03 [ ! * 1
058000 0+3126-03 | 1 . 1
0458500 01318E-03 1 1 .1
0459000 01322€-03 | ! .l
0459500 0:323E~03 | 1 .l
0.60000 04322E-03 | I .l
0460500 0+318£-03 | 1 * 1
0461000 0+43136-03 1 1 .
0461500 0+306E~03 1 1 L
0162000 04297€-03 1 1 . 1
0462500 0:287E-03 I i - 1
0463000 0¢275€-03 | 1 - 1
0.,63500 04262E~03 | 1 - 1
0464000 0+248E-03 | 1 * 1
0464500 04233E-03 | 1 - 1
0465000 04217€-03 | 1 . 1
0465500 0+200E-03 | 1 * 1
0466000 0¢183€-03 1| 1 * I
0466500 0:165€+03 I 1 - 1
0467000 0:146E-03 | 1 . ]
0.67500 0+127€-03 | I * 1
0468000 0+108€-03 | 1 »* 1
068500 0+880€-04 | [ . 1
0469000 0:682E-04 | 1 . 1
0469500 0:483E-08 | 1 - 1
0470000 0+283E=04 | . 1
0.70500 0+840E-0% | 184 1
0471000 =0+114E-04 1 . 1
0:71500 ~0+310E-04 | - 1 1
0472000 ~0+504E04 | - 1 1
0472500 -01695€=04 | * 1 1
Q473000 =0+882E-04 | * 1 i
0473500 ~0¢107€-03 | »* 1 1
074000 =0+124€-03 | * 1 1
0474500 -0¢142E-03 | » 1 1
0.75000 «0:¢159e-03 1 * 1 i
0475500 -0+175€-03 | * 1 1
0+76000 =0+190E-03 | . 1 1
0476500 =04203%€-03 | * 1 1
077000 ~0+219E-03 | * 1 1
0477500 I » t 1
078000 1 - 1 1
0478300 «0+257€-03 I . 1 1
0479000 =0+2686-03 1 . 1 1
0.79500 -0.278E-03 I - 1 1
0.80000 =0:287E-03 1 - 1 1
0480500 ~04295E-03 | - 1 1
0481000 -0+302E-03 | ® 1 1
0481500 “0+308E-03 1 # 1 1
0482000 =0+313€-03 | = 1 1
0482500 ~0:317E~03 | = 1 1
0.83000 =0+320E~03 I# 1 1
0.83500 =0¢322E-03 s 1 1
0484000 ~0+323E-03 [# 1 1
0484500 -04322E-03 Iw 1 1
0185000 ~0+321£=03 e 1 1
085500 =0+318E=03 | « 1 1
0+86000 =0+4314E~03 | # 1 1
0.86500 =0+309E-03 | = 1 1
0487000 ~0:3C3E-C3 | @ 1 i
0.87500 =0+295£=03 I . 1 1
0488000 =0+¢286E~03 ] . 1 1
0.88500 -0.276£-03 | * 1 1
0489000 ~04265€=03 | * i 1
0489500 =042%2E=03 1 » 1 1
0.90000 =0.238E~C3 | * 1 i
0190500 =0+223t=C3 I » 1 1
091000 =01206E=03 [ * 1 1
0.91500 ~0+188€-03 [ * 1 1
0492000 ~04169€-03 [ * 1 1
0492500 =0+148E-03 | * 1 1
093000 -0+126€~03 | - 1 1
0493500 -0+103£=03 | . 1 i
0494000 -04786E~04 | * 1 1
0.94500 =0.527¢=C4 1 . 1 1
0.95000 025404 T LI 1
0493500 0432505 1 I 1
0496000 0:333E~C4 | 1 * 1
0496500 0164 7E-04 [ 1 » 1
0497000 0+974E=04 T I " 1
097500 0+132€=03 | 1 - 1
0498000 04167€=03 1 b . 1
0.98500 04208€-03 1 1 . 1
0499000 00242¢=03 1 I - b
0.99500 04282E-03 1 1 L 1
1.00000 04323€=03 1 1 *l
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MAX ERROR= 0,32281E~03
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ES
1. BEBE% F(X)
2. EREHK W(X)
3. HmEMM E(X)
4. EURKROWS A, B; A<B
5 EPROKRYE L, M,N; N=L+M
6. WRMEMER EPS1, EPS2

i 2 % FACOM 230-60 [z &k 2REBIIMRERNDNZ 70 s 5 4

C (D)
(? OPTION LISTeMAPDOUBLE “ IFM.LEL0) GO To 41
COMMON L eMsN1P(40) +0(40) +2(40441) 41 DO 42 I=1iM
3 COMMON/PARAM/ABYEPS1VEPS2 42 RCI+1) = Z(L+1+14N42) 4 Q(1+1)
C FUNCTION 41 DU 40 =1L+l
4 FIX)=SQRT(X) 44 40 PClY = Z(LaN+2) + P(D)
C WEIGHT FUNCTION C (E)
5 W(X)=1,0/S@RT(X) 45 D0 43 I=1N
C ERROR FUNCTION 46 XA®0)5#(X(1+2)+X(1+1))
6 ECX) =W (X)) #(F(X)=P@(X)) 47 XB=0, 5% (XC(I+1)+X (1))
C 48 43 CALL YAMACEWEFS1+X(141)+XA4XB)
7 AmQ,5 [N (D]
8 B=1,0 49 EMAX=0.0
) EPS1=EPS2m=1,0E-4
10 DO 10 N=l+6
«@ DO 10 L=0+N 50 EMIN=1.,0E+70
12 MaNaL DU 51 Im1sN+2
10 CALL MARI(F s 1W1¥300) EE=EX(1)=E(x (1))
300 FURMAT(1H1///10%X+*SQRTCX)'//) 23 IF(ABS(EE) . GT+EMAXIFMAX=ABS (EE)
5 STOP 34 51 IF(ARS(EE) .LT-EMINIEMINaABS (EE)
16 END 55 < IF (EMAX=EMIN.LT,EPS2#EMAXI GO TO 90
56 U s x(1)
57 FP=POL (Pl 1)
58 FuaPOL (R4M41))
59 wlU=w (L)
1 SUBROUTINE  MART(F (F oW, FMT) 60 2CL D) =wu/FR
2 COMMON  LaMeNaP(40) +R(40)+2(40441) 61 IFCLVERLO) GG TO 81
3 CUMMON/PARAM/A VR SEPSLIEPS2 62 DU 82 JslsL
4 DIMENSION FMT (1) vX(101)+EX(101) 63 82 2(14J*1) = Z2(lv )%y
) Al= 0.5%(8=A) 64 81 IF(M.EQ.O) GO TO 83
6 AZ= 0 5#(B+A) 65 2L L+2)=~wUntPRU/ (FUNFQ)
7 PN=1.57079€3/FLNAT (N+1) 66 IF(MUERVLY) GO T 83
C W &7 DU 84 J= 24m
® DO T l=yslet (1) 84 Z(lel+J+l)= 2(1.Leuyay
9 7 PC(1)=0.0 69 83 Z(14N+2)=E (1))
@ DO 8 l=1+Me1 «@ DO RS I=1+N+1
11 3 AC1y=G,.0 71 U = X1+l
12 9(1y=1.0 72 FP=POL(Pslat))
13 X(1)y= B 13 Fo=POLCR ML)
14 DO 10 [=1wt T4 wWU=W (L)
15 10 X(I+1) = AL#CUSCFLOAT(2#1)#BN) + A2 75 ZUI+141)=WU/FY
16 TOX(N#2)= A 76 IF(L.ER.D) GO TO &6
C 77 DG 8T J=lal
[ DG 20 [=1sN+1 78 BT 2(I+14J%1) = Z(1+1y )%y
18 U = AL#COS(FLUAT(2#1=1)*PN) + A2 19 86 1¥(M.ER.0) 6O TO ¥8
19 FU= F() 80 ZCI410L42) =mWURFPRU/ (FEuF )
20 ZCy1y= 1.0 . 81 IF(MJER.1) GO T &8
21 IF(LEw.0) GO TO 21 * 82 D0 B9 U= 24M
22 NG 22 JmlaL ()] 89 Z(I+1«L+J+1) = 7(i+lsleD®U
23 22 ZC14J+1)=2C1sd)nU W4 88 2(141yN+2)mE (U)
24 21 IF(MeE®.0> GO To 23 (CE] DU 95 U= 1eN+Z
25 ZClL42)= =FU*Y 56 95 ZC1sJ) = Z(1+d) + Z(1+140)
26 1F (MiEws1) GO TO 23 a7 65 CONTINUE
27 DO 24 Jx24M 58 GO TO 99
@ 264 Z(lal#J+l)= 2(1 L+D)%U C (H)
29 23 Z(I1N+2)=FU 39 90 WRITECE4FMT)
30 20 CONTINUE WRITECH4101) CLapCl+1) s 1m0L)
c (O 101 FORMAT(S5X2HP=15.E30.18/(TX]15+£3C.18))
99 DG 31 K=1sN+1 WRITE(64102) (1aRCI+1) v 1209M)
DL 32 1=K+14N+2 102 FURMAT(/5X2HR=15+E30.18/(TXI5+630418))
33 32 Z(Ko1d= Z(Ks1)/2CK4K) WHITE(64201) Clax (1) WEXCI) v Im14N+2)
D 33 121N+l 95 201 FORMAT(/(5X+1542E20.8))
35 1F(k=1) 34433434 96 DO 60 I=1.lc1
1] 34 OU 36 =K+l N+2 97 X(1)=A+(A=-A)%([-1)/100.0C
37 36 7CIeddm 2C10d) =2C14KI#2(Ks D) 98 60 EX(1)=E(X(1))
38 33 CONTINUE 99 CALL CURVE(1014X«EXsEMAX)
39 31 CONTINUE 100 RETURN

101 END
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1 FUNCTION POL{AJNX) 1 FUNCTION = Pa(x)
2 DIMENSION A(N) 2 COMMON L aMJNsP(40) Q€40 +2¢40441)
3 POL=A(N+1) 3 PX = P(L+1)
4 1F (N.EQ.O)RETURN 4 IFC(L+E®.0) GO TO 1%
(0] NO 10 JaNele=1 3 DU 10 i=lsL
6 10 POL=POL#X+ACI) ® 10 PX = Pxex + P(Ls1=1)
7 RE TURN 7 15 Qx= Q(M+1)
8 END 8 IF(M.€Q¢0) GO TO 25
DU 20 Im1sM
é 20 OX = GX#X + R(Msl=])
11 25 PG = PX/QX
12 RETURN
13 END
1 SUBROUTINE  CURVE (NsXsE<AMAX) 1 SUBROUTINE  YAMACF .EPS XsXAXB)
2 DIMENSION 1ACLD (103)+1C€11) 2 KEY=9
3 DIMENSION X(101)«E(101) 3 He (XB=XA)#0,25
4 DATA 1A/103#1H /418/103%1H=/ 4 FO=ABS (F (X))
5 DATA IKsI1eIS/Z1HR IH] «1H  / 5 99 CONTINUE
6 DATA [C/=501=40,=30,=20,-10, é Xlax+H
4 0+10+20430440+50/ 7 TF(X1.GT.XB) X1mX8
7 WRITE(6420) ‘ 8 X2mX=H
8 20 FORMAT(1H1//) 9 IF(X2:LT+XA) X2aXA
9 WRITE(6+40) IC 10 Fl=ABS(F(X1))
10 40 FORMAT(22X+5110,1945110) 11 F2aARS (F (X2))
11 WRITE(6450) 11 : 12 IF(F2.LE.FO.AND.FO,GE+F1) GO TO 10
12 50 FORMAT(30X+¢10C1HI v 9X) 4AL1) 13 IF(F2=F1) 1410,2
13 WRITE(6470) 1B 14 1 x=x1
14 TO FORMAT(1H +5X+1HXs14Xs1HE+7X+103A1) 15 FOsF1
15 DU 100 I=1.N 16 IF(KEYJER+2) HuDoSaH
16 1V=50.0%EC1) /AMAX+52,5 17 KEy=1
TAC1)=1A(52)=1A(103)=]] 18 GU TO 99
18 TACIVI=IK 19 2 X=x2
19 WRITEC64200)XCI)VECI) o [A 20 FU=F2
20 100 1A(IV)= 1S 21 IF(KEY.EQs1) Hmp,Sam
21 200 FURMAT(1H +F10.5+3X+E13,3+2X+103A1) 22 KEY=2 .
22 WRITF(6470) 18 23 GO TO 99
23 WRITE(6450) 11 24 10 H=0,S5%H
24 WRITE(6440) 1C 25 IF CABS(FO=F1) *ARS(F0=F2)
25 WRITE (64+300)AMAX C SGFs EPSHFO) GO TO 99
26 300 FUKMAT(IH +10HMAX ERROR= +E1%,%) 26 RETURN
27 RETURN 27 Ft.D
28 END
W3 & HMIUEOY HO I D #
SQRT(X) RANGE 0.5= x=10
(RE0 €h%:0)
p= 0 0+278208798315292618E 00
1 0:118920760524840739E 01
Q= 0 0.100000000000000000E 01
1 0+467890223606160240E 00
1 0.,10000000E 01 0432278983E-03
2 0.84072996E 00 =0+32280973E=03
3 0¢59490678E 00 04¢32279343F=03
4 0+50000000E 00 =0+32279058E=03
K70 0T LR 512H-->T, WALTHE FORTRAN /'L — 7D #EICHELAET 2.

RORHLmYy 7 by 2 THINEBE2 7a 75 68 (370 44 4E 8 H 28 1524))




